>
A & 0l & AF 2 E A A
FM: SXN23=2 2at0l=n
A BU=TE
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEX23t= 230 =u 31,994,140 28,232,332 3,761,808
= 3,202,905
X 4,280,000
J| 686,538
= 1,000,000
< 4,763,841
Al 18,060,856
Zatusds 5,725,395 4,936,399 788,996
= 300,000
J| 686,538
< 534,791
Al 4,204,066
EStUl =&AL K& 4,264,702 3,330,444 934,258
= 300,000
< 479,450
Al 3,485,252
=33 20=EA XA 71,000 98,000 A 27,000
307 gl2tol & 71,000 98,000 A 27,000
02 It M AHE L 71,000 98,000 A 27,000
OXBFZ3d M A &S|
71,000,000& * 10024 71,000
ANL23tol=X & 196,910 328,236 A 131,326
201 Let24d] 4,810 4,732 78
01 At 22/l 4,810 4,732 78
OFstll=4&Z M= 10,000& * 2000H 2,000
O8=+9 M= 80,000& = 201 = 53| 800
ONlz=ad FAEX 2=
20,000& * 128 » 43 960
OAE 2oBAET S|
7,0002 = 594 » 32 x 108 1,050
202 044l 2,400 2,304 96
01 SLHOIYI 2,400 2,304 96
OLE St =&AL FA 0
20,000& * 4% * 32 * 103 2,400
203 YR =2l 2,000 2,000 0
03 A FXH S Z=AY| 2,000 2,000 0
OZto=HA =& 2,000,000 2,000
306 ¢ 2 167,700 301,200 A 133,500
01 &3 167,700 301,200 A 133,500
Os==2satMHII3 167,700,000& 167,700
307 glz2+ol & 20,000 18,000 2,000
02 It M AMHEE 20,000 18,000 2,000




FM: SXN23=2 2at0l=n
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBFANULN M ot A2s 23
10,000,000 = 200 & 20,000
XS HMAMOOA 50,000 75,000 A 25,000
= 25,000
Al 25,000
307 glz2tol & 50,000 75,000 A 25,000
= 25,000
Al 25,000
04 QIZFHALAIH E = 50,000 75,000 A 25,000
OFBFHXMAZ XM UCHE 50,000,000 50,000
< 25,000
Al 25,000
AL ZsHol =& Al 23,200 22,800 400
< 23,200
307 21201 A 23,200 22,800 400
< 23,200
04 QIZFHALAIH B = 23,200 22,800 400
OXZIaM=8AMN NA(ES2AMHIIS)
23,200,000 * 13l 23,200
< 23,200
sz 2223 205,492 222,208 N16,716
101 @124 dl 13,399 9,584 3,815
4 D12t ZE2XREES 13,399 9,584 3,815
OUHS0IE2 F20IE A2
45,230 * 19H » 262 » 102 11,760
oHEsll=2 AAUOE FEFOHH
200,000& = 1& = 23] 400
OSSOl RAOIH elAH JI22E3 1,239
O30z 11,760,000& * 4.5% 530
(OFaRzg=g=: 11,760,000& * 2.9% 342
OFIRAEE 342,000& = 6.55% 23
ons=sdg 11,760,000& * 1.5% 177
OMTHEH 11,760,000& = 1.42% 167
201 Yet2 | 119,935 136, 117 £ 16,182
01 At 22/l 18,184 13,253 4,931
Ol N2/Js &
70,0003 = 78 « 33l 1,470
OFAlY & & SIF 7
35,000& = 5004 1,750
Oz S=U =ZZA 300,000& * 12 300
oOFIIAHE=R=E 792
OFE-= 12,000& = 304 = 123 432
O&32tX 10,000& = 300 » 12& 360




FM: SXN23=2 2at0l=n
M o= s
Hel: 2E0=SAMN XA (Sl & &)
SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
OARE(HAEE, at&EX S) #¢
150,000& * 122 1,800
Ollz=z A2t =22 M|
2,000& = 1,000% 2,000
OQHY Z2H| 110,000& = 102l 1,100
OllE2 PAFH S 242
150,000& = 12& 1,800
O0l=2 delHoleH BAM==Z
230,000& = 123 2,760
Ollz=at AYANE RIEF ES2
316,000& » 12& 3,792
O&FZ Il =t 120,000& * 1 120
O=MN=Y 25,000&  20&A 500
02 =24l 31,251 52,864 A21,613
Ofls=z & =22 3l 300,000& * 12 300
Os83 ¥4 300,000& * 13l 300
ollsa MJIR3 1,800,000& = 12& 21,600
O0lz=2 dihgr JhAH| 750,000& * 53 3,750
Olls& WXtz =4
2,0002 * 8AIZ2H » 40 = 2CH 1,280
Ol0l=2 AIE&EH |XH 2,213& * 1,365 3,021
OO0l=2 AL AW EXE FH
1,000,000 1,000
03 AHZ I 70,500 70,000 500
Ollz=2 JI=d™Al 234 30,000
O& Al & 2,000,000 = 42| 8,000
Ol = M Al 3,000,000& = 43| 12,000
OdAl 222 HHHI 500,000& * 4z 2,000
OXZ 244l 2,000,000& = 43| 8,000
Ol 1MAlA ZZ2HME 23| 16,000
O1XAIA ZTZHE XSY|
2,000,000& * 43| 8,000
O M= X &l 1,500, 000& 43| 6,000
O&Al 228 HA| 500,000& * 43 2,000
OZHIEZHE 24| 2,500,000& = 32/ 7,500
owns=Zzd 294l 1,000,000 = 43| 4,000
OxXL=d ZE=NE 24|
5,000,000& * 13l 5,000
Oll=2 2std T2 24|
2,000,000& = 23] 4,000
Ol0l=2 Z2UHE2DM MAH 8,000 » 5002 4,000
301 e A3 32,158 32,007 151
09 AL HIE A= 1,200 1,080 120
Ol0l=2&d A =& U224
100,000& * 1& » 128 1,200




SN ZSXNSE2 2502
M 20ENE
Selr 2E0SHA N (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
1B 243 30,958 30,927 31
onsE 224y 2,500,000% * 128 30,000
OHESOIZ D22 AHRE JIBARSS 958
oALH 30,000,0008 * 2.995% 899
OFIRYH 899,0008 * 6.55% 59
401 Al HI L 2 T 40,000 40,000 0
01 Al tl 40,000 40,000 0
O0l=2 HAA BLTA 40,000,00024 40,000
GBI E22I|Y = stM=o Y3 40,000 40,000 0
< 18,000
Al 22,000
307 212+0| & 40,000 40,000 0
< 18,000
Al 22,000
04 BI2FSHALANY 2 40,000 40,000 0
OM223 2B HASM2AACHS
0,000,0008 * 13| 40,000
< 18,000
Al 22,000
S3 2MAS LAY 13,500 13,500 0
307 212+0| & 13,500 13,500 0
02 It F A A B X 13,500 13,500 0
OXS0I5H B 13,500,0008 * 13| 13,500
2Md JREH 40,000 40,000 0
< 20,000
Al 20,000
307 212+0| & 40,000 40,000 0
< 20,000
Al 20,000
04 BI2FSALANDS 2 40,000 40,000 0
ORAE YUBIISH XY 40,000,0008 * 18 40,000
< 20,000
Al 20,000
=RV Ep] 150,000 110,000 40,000
307 212+0| & 150,000 110,000 40,000
04 QI2EBHAL AN 2 150,000 110,000 40,000
O3 H=0I= A 150,000,000% * 18l 150,000
BE 230 NEAMY 10,000 10,000 0
307 212+0| & 10,000 10,000 0
04 QIZFSALAL S B = 10,000 10,000 0
o133 BESsEnE
10,000,008 * 15| 10,000




FM: SXN23=2 2at0l=n
A BU=TE
el ZStoll=HAL X (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ESUZHEEM E=A &S 4,000 4,000 0
307 glz2tol & 4,000 4,000 0
04 QIZFHALAIH E = 4,000 4,000 0
OE=USM==H EFAMLUE
4,000,000& = 13l 4,000
Ex0lsxyg & dz=oo & 6,000 6,000 0
307 gl2tol & 6,000 6,000 0
04 DIZHHALALSE E X 6,000 6,000 0
OFFl==E" % =2 &
6,000,000& = 13l 6,000
UM = AlatA 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 DIZHHALALSE E X 4,000 4,000 0
OF LM =4 Al&tAl 4,000,000& * 13l 4,000
HdIANNSE2H 9,000 22,500 A 13,500
307 gl2tol & 9,000 22,500 A 13,500
04 DIZHHALALSE E X 9,000 22,500 A 13,500
OEIAZZSEZA 9,000,000& * 13l 9,000
=3 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
04 QIZFHALAIH 2 = 30,000 30,000 0
Ofx==3¢ 30,000,000& * 12/ 30,000
E=AC JLRH 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OFF=AE JIRH 10,000,000& * 13l 10,000
st d A s 3,500 3,500 0
307 gl2tol & 3,500 3,500 0
04 DIZHHALALSE E X 3,500 3,500 0
OostdsAF AU 3,500,000& * 13l 3,500
MNEOl 2= HESA3 3,500 3,500 0
307 glz2tol & 3,500 3,500 0
04 DI2HHALALSE E X 3,500 3,500 0
OI=ES 3 3,500,000& * 13l 3,500
EFANCXNEHEHISH & HFUCCH 2 8,000 8,000 0
307 glz2+ol & 8,000 8,000 0
04 QIZFHALAIH E = 8,000 8,000 0




FM: SXN23=2 2at0l=n
A BU=TE
& S3o=AM X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFFACXNEHELSH & H=UCCH 2l
8,000,000& =+ 13l 8,000
22 Xl 2,000 2,000 0
307 glz2+ol & 2,000 2,000 0
04 QIZFHALAIH E = 2,000 2,000 0
OZE N 2,000,000 * 13l 2,000
HEANASCANDZEH 4,000 4,000 0
307 glz2+0l & 4,000 4,000 0
04 QI2HSAFAFRIE & 4,000 4,000 0
OHFAUA=TZAIANETZS2H
4,000,000& =+ 13l 4,000
e 2,500 2,500 0
307 glz2tol & 2,500 2,500 0
04 QIZFHALAIH E = 2,500 2,500 0
OH2H 2,500,000& = 13 2,500
=203 ATAEHE & 22N 2,400 2,400 0
307 21201 A 2,400 2,400 0
04 QIZFHALAIH B = 2,400 2,400 0
020 HANEH U 2 AL
2,400,000 = 13 2,400
2edH ¥ EE3 4,000 3,600 400
307 glz2tol & 4,000 3,600 400
04 QIZFHALAIH E = 4,000 3,600 400
o=s3dd ¥ EZE3 4,000,000& = 13l 4,000
A2 EHote 289 & 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIH B = 10,000 10,000 0
OAI2 & Mote 2o &
10,000,000& = 13l 10,000
E=0=83 3JA 10,000 11,000 A 1,000
307 glz2+ol & 10,000 11,000 A 1,000
04 QIZFHALAIH E = 10,000 11,000 A 1,000
OFF0I=83 3JM 10,000,000& * 12l 10,000
SEN M ot =AM 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 QIZFHALAIR B = 10,000 10,000 0
OfEW &Mot= =M 10,000,000& * 13l 10,000
AFMIREZAUE 20,000 20,000 0




SN Z2NRE2 20z
Y 2MSRE
Selr 2E0SHA N EEH-E)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
307 Q1201 & 20,000 20,000 0
04 DI AAL I B T 20,000 20,000 0
OHFHM=LSZME  20,000,0009 * 18l 20,000
YHAZHIN B H 8,000 8,000 0
307 8I2t0| & 8,000 8,000 0
04 QB AAL S B 8,000 8,000 0
OLHZHINMUZSUE  8,000,0002 * 13l 8,000
o 41 2 2 0| 8 Al 20,000 15,000 5,000
307 £I2t0| & 20,000 15,000 5,000
04 QI AAL R B T 20,000 15,000 5,000
OLHZ 20 A 20,000,0002! * 13| 20,000
OLE &= 2015 15,000 15,000 0
307 Q120 & 15,000 15,000 0
04 DI AAL I B T 15,000 15,000 0
OOLEH = 2015 15,000,0008 * 13| 15,000
RSN EREAL (A2 6,000 6,000 0
307 QI2+0I & 6,000 6,000 0
04 DIZHAAL I B 6,000 6,000 0
OZNSSHUEDFAL (A2
6,000,002 * 13 6,000
HENX| F2RAUME 10,000 10,000 0
307 Q1201 & 10,000 10,000 0
04 DIZHBAAL I B T 10,000 10,000 0
OFFHX HIZAUKH
10,000,0002 * 13 10,000
SH-OLAIOF 2t 23t0lz =2 RRE 10,000 10,000 0
307 £I2+0| & 10,000 10,000 0
04 QI AAL S B T 10,000 10,000 0
OB-0tAIOI2 235t0= 2H DT
10,000,0008 * 13 10,000
HEOS0 A 48,000 30,000 18,000
307 ©I2t0| & 48,000 30,000 18,000
04 QI AAL R B 48,000 30,000 18,000
OFFOUSHEH 48,000,0002 * 13| 48,000
DI=XE JI=H 3,600 3,600 0
307 QI2+0I & 3,600 3,600 0
04 QI AAL L B T 3,600 3,600 0
ONERE JI&A 3,600,0002 * 13] 3,600




FM: SXN23=2 2at0l=n
A BU=TE
& S3o=AM X
SA - ZE-B(EA) - NRAY - B S il &t o il
2 A2 4,000 4,000
307 glz2tol & 4,000 4,000
04 QIZFHALAIH E = 4,000 4,000
og Aclsd™ 4,000,000& * 13l 4,000
AT ZHEAlS 4,000 4,000
307 21201 A 4,000 4,000
04 QIZFHALAIH B = 4,000 4,000
(OFNFSESEFSPN -] 4,000,000& = 13l 4,000
RESAEZME 4,000 4,000
307 21201 A 4,000 4,000
04 QIZFHALAIR B = 4,000 4,000
OUESAZNE 4,000,000& = 13l 4,000
S=Hd 4,000 4,000
307 gl2tol & 4,000 4,000
04 DIZHHALALSE E X 4,000 4,000
OZSHH 4,000,000& = 13l 4,000
A 3tok3tdl 0l 5,000 5,000
307 glz2tol & 5,000 5,000
04 QIZFHALAIH 2 = 5,000 5,000
©g3stotatd 0ol 5,000,000& * 13l 5,000
M UEIE0IEEA 4,000 4,000
307 21201 A 4,000 4,000
04 QIZFHALAIH B = 4,000 4,000
OdIRU=IE0IEEH 4,000,000& = 13l 4,000
A SAH A 4,000 4,000
307 21201 A 4,000 4,000
04 DIZHHALALSE B X 4,000 4,000
OFZAZHA: AL 4,000,000& = 13l 4,000
FFoE0=2 U3 3,000 3,000
307 gl2tol & 3,000 3,000
04 DIZHHALALSE E X 3,000 3,000
OF=QUEM=2Hs 3,000,000& * 13l 3,000
365 HMABAHO EXl= 2 ANEH 45,000 45,000
307 glz2+ol & 45,000 45,000
04 QIZFHALAIH E &= 45,000 45,000
O35 HANSH0 X S AEE
15,000,000 * 33l 45,000




2N

g =
ehel: A XS geldd)
BE .G (3) - MY - BES il 52
FABS 3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OF=ARSA3 30,000,000& * 13l 30,000
SEaY UBM=H Ot 7,000 17,800 A 10,800
gI2tol 7,000 17,800 A 10,800
04 DIZbSHAIAIRI 2 = 7,000 17,800 A 10,800
OFS=EAUUEM=M &0t
7,000,000& * 13l 7,000
=Z0ssd ot 7,000 17,800 A 10,800
gIzZtol ™ 7,000 17,800 A 10,800
04 BIZHH A AL E = 7,000 17,800 ~10,800
Os=lsMs=d &t 7,000,000& = 13l 7,000
SH3H &t 4,000 4,000 0
307 21201 A 4,000 4,000 0
04 QIZFHALAIE B = 4,000 4,000 0
O=s=d=H &It 4,000,000& = 13l 4,000
=3I &It 3,000 3,000 0
gI2tol & 3,000 3,000 0
QIZHSHAFARRS 2 X 3,000 3,000 0
O&=H=H &It 3,000,000& * 13l 3,000
ZH &t 3,000 3,000 0
gIztol ™ 3,000 3,000 0
04 DIZHHALALSE E X 3,000 3,000 0
OX=2REM EIt 3,000,000& * 13l 3,000
& ettt HIlHF3 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
CEPSCInE T BIT-E
3,000,000& * 13l 3,000
F=3t otelotel & 3,000 3,000 0
gIztol & 3,000 3,000 0
QI APARS B X 3,000 3,000 0
OJt=1t otelotel & 3,000,000& * 13l 3,000
RIS 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
OAtH3I & 3,000,000& * 12/ 3,000




2N
X ZH -
L= B

el

M0 MO Ui

ton o

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
A AMES 3,000 3,000 0
307 glz2tol & 3,000 3,000 0
04 QIZFHALAIH E = 3,000 3,000 0
OSR & NES 3,000,000& = 13l 3,000
H=AZZEUSE 9,000 8,600 400
307 21201 A 9,000 8,600 400
04 QIZFHALAIH B = 9,000 8,600 400
OdIA=ZEHUS 9,000,000& = 13l 9,000
MO S EAE 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIR B = 3,000 3,000 0
ONUZSHAlZ 3,000,000 * 13l 3,000
g 233 32,000 32,000 0
307 gl2tol & 32,000 32,000 0
04 DIZHHALALSE E X 32,000 32,000 0
OJtsg 23243 32,000,000& * 13l 32,000
d=2 FAE SAZ22 54,000 44,000 10,000
< 10,000
Al 44,000
307 glz2tol & 54,000 44,000 10,000
< 10,000
Al 44,000
04 QIZFHALAIH E = 54,000 44,000 10,000
OE=HFAHSAS= 54,000,000& * 13/ 54,000
< 10,000
Al 44,000
CHHEsttl= A 26,000 26,000 0
307 21201 A 26,000 26,000 0
04 QIZFHALAIH B = 26,000 26,000 0
oOHMEZaol=H & 26,000,000 * 13l 26,000
S8 2018 293 & Al 15,000 15,000 0
307 gl2tol & 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
058 =278 243 & HAIF
15,000,000 * 12/ 15,000
AR EGtE JteS2¢al 31,000 62,000 231,000
307 21201 A 31,000 62,000 A 31,000
04 QIZFHALAIR B = 31,000 62,000 A 31,000
OAR D Mot IHssSA3l
31,000,000& = 13l 31,000




FM: SXN23=2 2at0l=n
A BU=TE
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2E Z3U =&AL 150,000 70,000 80,000
307 glz2tol & 150,000 70,000 80,000
04 QIZFHALAIH E = 150,000 70,000 80,000
OAZE 23tUl=&A 150,000, 000& 150,000
SHHAEE 40,500 40,500 0
307 21201 A 40,500 40,500 0
04 QIZFHALAIH B = 40,500 40,500 0
SEHAEE 40,500,000& = 13l 40,500
=EEVISEEREE 35, 100 35, 100 0
307 21201 A 35,100 35,100 0
04 QIZFHALAIR B = 35,100 35,100 0
OFF=HRX H=28A4Z2= 35,100,000& * 12 35,100
EFSHI&X0NE s 80,000 95,000 A 15,000
307 gl2tol & 80,000 95,000 A 15,000
04 DIZHHALALSE E X 80,000 95,000 A 15,000
OF=S4H3TXINE HIASA3
80,000,000 * 13l 80,000
2clls FE B2NE 10,000 10,000 0
307 21201 A 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
Oxcllts 7 2ZMHE 10,000,000& * 13l 10,000
FF0telg 243 AWE 10,000 10,000 0
307 glz2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
OFF0t2ld =243 AU
10,000,000& * 13l 10,000
BF=S4H23&X 280,000 130,000 150,000
307 gl2tol & 280,000 130,000 150,000
04 DIZHHALALSE E X 280,000 130,000 150,000
OF=54Z&X 280,000,000 * 13l 280,000
HOotol= 2stlll=3 50,000 5,000 45,000
307 glz2tol & 50,000 5,000 45,000
04 DI2HHALALSE E X 50,000 5,000 45,000
OX0t= 2std=39 50,000,000 50,000
s 2N 15,400 15,400 0
307 glz2+ol & 15,400 15,400 0
04 QIZFHALAIH E = 15,400 15,400 0
oOtsE 2sHHl 15,400,000& * 13/ 15,400




2N
X ZH -
L= B

el

M0 MO Ui

ton o

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
orolHEZ A 35,100 35,100 0
307 glz2tol & 35,100 35,100 0
04 QIZFHALAIH E = 35,100 35,100 0
ootolExE A 35,100,000 * 13l 35,100
HYAA ECIS#HA 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
OATAHA EclHA 20,000,000 * 13l 20,000
HI0Eol gE23AUs 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 QIZFHALAIR B = 30,000 30,000 0
OH2O{2I0] B&ZAS
30,000,000& * 12/ 30,000
FEEFHEXNMN =CHEIHE 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 QIZFHALAIE B = 5,000 5,000 0
OFEZFF=HNAMU =UHILA
5,000,000& =+ 13l 5,000
E=ZA0=H 7,000 5,000 2,000
307 glz2tol & 7,000 5,000 2,000
04 QIZFHALAIH 2 = 7,000 5,000 2,000
OFFZAHM=A 7,000,000& * 13 7,000
EESCERSPIR-TES] 3,000 3,000 0
307 21201 A 3,000 3,000 0
04 QIZFHALAIH B = 3,000 3,000 0
OFFHFAIIal & 3,000,000 * 13l 3,000
FHSAH 60,000 30,000 30,000
< 30,000
Al 30,000
307 gl2tol & 60,000 30,000 30,000
< 30,000
Al 30,000
04 DIZHHALALSE E X 60,000 30,000 30,000
OSRHSAH 60,000,000 * 13l 60,000
< 30,000
Al 30,000
HE =0l 40,000 30,000 10,000
307 glz2tol & 40,000 30,000 10,000
04 QIZFHALAIH E = 40,000 30,000 10,000
oOHss=0l 40,000,000& * 13l 40,000




2 2EXN2=2 230 =0
HzM: S sIE
e S3d=8EAI X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Had A3 22 30,000 30,000 0
307 2iz2to| & 30,000 30,000 0
04 QIZ2tSHAFALS B X 30,000 30,000 0]
OFAHE AESt 22 30,000,000& * 13| 30,000
S=EES A2 319 € 24 8,500 16,750 A8,250
= 4,250
Al 4,250
307 QI2t0| & 8,500 16,750 A8,250
& 4,250
Al 4,250
04 CIZ2tSHALALS B = 8,500 16,750 A8,250
OE=252 ANZ 2589 ¢ 29
8,500,000& * 13| 8,500
= 4,250
Al 4,250
StEs MO n®sd 9,000 9,000 0
307 2iz2to| A 9,000 9,000 0
02 QIZFA AAIE E X 9,000 9,000 0
OstsMllLEHN 9,000,000& = 13 9,000
S| A EEN 2,000 2,000 0
307 QI2t0| ™ 2,000 2,000 0
02 QI2tAMAIE E =X 2,000 2,000 0
O3 ANIIHZEN 2,000,000& = 13| 2,000
HER2S MEOE 4,500 4,500 0
307 212t0| & 4,500 4,500 0]
02 DIZHEAAIE E X 4,500 4,500 0
OXE=3 MEOHE 4,500,000& = 13l 4,500
ZTEZEIILD] 24,000 23,400 600
307 2iz2to| A 24,000 23,400 600
02 QIZHA AAIE E X 24,000 23,400 600
OFEEZEILD 24,000,000& * 13| 24,000
M= BHAX [f3 4,500 4,500 0
307 ciztol A 4,500 4,500 0
02 QI2tAAMAIE E =X 4,500 4,500 0
ON=8A RS JHE 4,500,000 = 13 4,500
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